X° + 16x + 28 2 + 4Ax + 3
 QUESTION | |  QUESTION
(X +1)(x + 3) (X +2)(x + 3)

X° +5X + 6 X2+ IX + 12

(X +4)(x + 3) (X - 1)(x + 3)




X2+2X-3 X + 12X + 27
_ QUESTION | QUESTION
(x +9)(x + 3) (X + 7)(x + 3)

X° + 10x + 21 x>+ B6X + 9

(X + 3)(Xx + 3) (X +8)(x+1)




X% + 9X + 8 X* + 12x + 11
_ QUESTION  QUESTION |
(x+1)(x +11) (X + 14)(X + 2)

3x° + 13x + 4 X° + 12x + 11

(x + 1)(x + 11) (X + 1)°




X“+2x + 1
 QUESTION  QUESTION |
(X +1)(x-1) (X + 5)(Xx = 5)

_ ANSWER | |  ANSWER |
x° - 25 2x% + 3x + 1

(2x + 1)(x + 1) (x-1)(x +11)




_ ANSWER | |  ANSWER |
x° + 10x -11 X° - 2X - 3

(x + 1)(x - 3) (X +5)(x +12)

x* + 17X + 60 6X° + TX + 2

(2x + 1)(3x + 2) (3x + 1)(x + 4)




